
RMS™ Support Bracket for MD Roadbook and ICO

Parts included:  (1) Support Bracket, (8) rubber grommets, (4) M5x45 hex head 
cap screws, (4) M5x25 button head cap screws, (8) M5x15 flat washers, (8) M5 
nylock nuts

CAREFULLY READ THESE INSTRUCTIONS COMPLETELY BEFORE BEGINNING 
THE INSTALLATION.

1) Locate the following items from the MD hardware kit. Put the other MD 
hardware aside. The RMS hardware listed above will replace all the 
other MD hardware.

• 8 rubber grommets

• 4 clamping blocks

• 4 washers

2) Mount the bracket to the cross bar before installing the roadbook.

Using (4) 45mm hex head bolts, (4) washers, and (4) clamping blocks, mount 
the bracket to the crossbar.

3) Mount the roadbook into the bracket.

Install the MD grommets in the four 
large holes in the bracket. Install 
remaining MD grommets in the four 
matching holes in the roadbook. 
Next attach the roadbook to the 
bracket using the RMS-supplied 
M5x25 hardware and 8 washers. 

Your finished product should look 
similar to this (F2R model shown).

© Copyright 2015 Rally Management Services™. All Rights Reserved.


